Worksheet-1 fusest a3 < gaaret g - a<t

(Revision Of Previous Class)

1. Jot f&ort Aftmret fe9 A9 3* @31 Aftd™ 39| Find the largest number from the following:
3687, 3688, 3876, 3867, 3786

2. Jot fa3nit Afer=t f&5 °Hg 3 &1 Aftes™ UST 91 Find the smallest number from the following :
1023, 1203, 2103, 1013, 1103, 1301

3. 1,2,4m3 6 3 95 T BT AF &1 At U3 FJ |
Find the smallest number that can be made using the digits 1, 2, 4 and 6.

4. 5,8,7M3 93 =& TBI AT I’ ST AT U3 a3 |
Find the largest number that can be made using the digits 5, 8, 7 and 9.

5. a5, 6 M3 8 3 faaIt Afumet 9= HadT I& fAn feg et <t g 979T &7 <IfamT A<

Numbers which can be made using 5, 6 and 8 such that no digit is repeated.

6. I5 foy g9 FHT & Tue qH feg f&d | Write each of the following group in ascending order.
(1) 2354, 3425, 2435, 2524, 2358
(1) 15263, 16235, 15326, 15236, 16253
(ii1) 2876, 2768, 2687, 2678, 2786
(iv) 34576, 36258, 37268, 36528, 35826
7. 35 @y greses u3T J3|
Find the following product.
(1) 73 (i1) 89 (i) 272 (iv) 197
x 46 x 83 x 96 x 57

8. Jo f&y ar gaes u3T 41
Divide the following :
(1) 807 + 9 (i) 782 + 7 (i) 576 + 24 (iv) 869 + 22
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9. Ufg®&hut 5 fARz Afunret feg 3 §9aT € 83 J9| Write first five even numbers and add them.

10. f3& #at € Ag 3 =31 a3 Afeeur &8 1 Write the largest 3 digit even number.

11. 7 € ufg® & Ir=H &4 | Write first 6 multiples of 7.

12. 97856 @ f@9 7 € AE&A H& &4 | Write place value of number 7 in 97856.

13. 4 cm &9 feq Y47 976 | Draw a 4 cm long line segment.

14. 2.5 cm M3¥ fe™ 78T 999 9=C | Draw a circle of radius 2.5 cm.

15. 5 f&fput nifgfamt € s fgd | Write the names of the following figures.
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Worksheet-2 wruEtot Aferet § ATEaT Mg - 8=t

(Knowing Our Numbers)

1. J& &3 HHJ &9 A 3 22T Afun™ 3 §i &are | Circle the smallest number.
(1) 4536, 4892, 4370, 4452 (i1) 25286,25245,25270,25210

2. Jo o3 HHJ 5" Ag 3* <3t Aft™ 3 di%T ®ArG | Circle the greatest number.
(i) 1473, 89423, 100, 5000, 310 (i) 2853, 7691, 9999, 12002,124

3. (i) gd9 TI98% JT 9,7,4,1 ¥ T TI3° &I¢ 9T I Wi ©F AF 3 2t AT T&C |,
Without repeating the digits, Write the smallest number with four digits. ................

(i) 9919 TI98T IT 5,4,0,3 T TI3° I9X 979 VAT & AF 3 IST AT TG oo
Without repeating the digits, Write the greatest number with four digits. ................

4. fegat fI39" § fmis 5% AHSE BUTS Jo fou AR © 839 e
Observe the following figure & then answer the following questions
IH (Ram) 3%t (Dolly) HJa (Mohan) HHt (Shami)
(160 AH) (154 AH) (158 AH) (159 AH)
(iy feost &8 A” 3 &I & I? Who s the tallest?
(i) fegat iS5 AZ 3 <7 d& J?Who is the shortest?
(iii) feast Tt Fareit Tue FH fTo fo|
Write their heights in ascending order.
(iv) fegst Tt SaEer we® g fog fo |
Write their heights in descending order.
5. I®H A i3 B T fH®® o9 | (Match columns A and B.)

TBH A (IHE At 1) TBH B (fgg wiget Aft wid)
Column A (Roman Numerals) Column B (Hindu Arabic Numerals)
X 1000
D 50
L 100
C 10
M 500

6. Jo f&fm Hftmit &9 R Aftmr 3 3% ®IrS 7 93T Al s Yoot fS9 TIATET et J|

Circle the number which is written in Indian number system.

(i) 78,921,092 (i) 85,46,283 (iii) 9,84,32,70 (iv) 99,985,102
7. JG Sttt =7 8§39 @
Answer the Following: | 259[260[ 261 262 263] 264{ 263] 266] 267] 268] 269] 270[ 271] 272 |

(i) UsT 99 fx fqaz 33 270 € 3BaT <9 260 T fammeT 33 IS |
Find which flags are closer to 260 as compare to 270

(i) U3T 9 & faa3 33 260 & 3% ff9 270 & fawmeT 33 IG5 |
Find which flag are closer to 270 as compare to 260
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8. (a) 9H® Yyt @9 TIAS | (Write in Roman system.)
M 2= () 40=__
(b) fIE niIdt y=&bt fS9 TIAG | (Write in Hindu Arabic system.)
() LXV = (1Im LXIX =

9. (a) 7T TH, IHG Tt T6 3 2 fadarH AT, [ N .
| S I =Y. 2 S w3 Y ArEE ydteer fg39 (Fig.) | HT Item 32 f®HZ Rate list
J 3t 8 3 I AT IaH IHe § Tt Udf |
If Ram purchases 2 kg apples, 1kg oranges,

I Apple 40 Y3t fa q (per kg)

2 combs, and 1 cake of soap from Raman's aur Comb 3 QU = fEd (Rs 3/- each)
shop, how much money Ram has to pay to =3 Orange| 30 gu® ygt 53 (per kg)
Raman?

(b) T IH, IHG § 200 FUT feer T 3 9w AEE Soap 8 U = €L (Rs 8/- each)
B8R 3 & U TUR 9T |

If Ram gives Rs.200 note to Raman, how
much money Ram will get back?

10. f&x <3 9935 fE9 4 dteg 500 & =t T125 1. S =& mger @ 48 o7 for s 3T
ASE IS |
A big bowl contains 4 litre and 500 ml curd. How many glasses having capacity of 25 ml can be filled
with this curd?

)

25
L

11. w3 fSo T9AE AN § fJe wiedt Aftmr wig yoot 99 e9rg|
Write the time shown by clocks in Hindu Arabic System.
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Worksheet-3 Y& Afemret 3 - 8=t

(1)
(1
(1)
(1V)

(V)

(Whole Numbers)
AT §86 3 v M3 I1%3 JE6 3 x T forms &S| (Put v for true and x for false statement.)
| A 3 &2F EEL) Aftmi™ T 1(1 is the smallest whole Number.) |:|
0 A8 3 &2t Yrfa3x AT JT1(0 is the smallest Natural Number.) |:|
50 = U239 nix 49 JT1(49 is the predecessor of 50.) |:|

530 < 503 [ ]

600 AfEMT 599 T nidizg AfunT %I(GOO is the successor of 599.) |:|

Hftmrr Jum €t 293° J9w IT Js fou Ae® I% 39|
Solve the following sum using Number line.

()3+4  ——————F+—+—+—+—+—+—+—+—+—+—
0 1 2 3 4 5 6 7 &8 9 10 11 12 13 14

wrs
0o I 2 3 4 5 6 7 8 9 10 11 12 13 14

i axs
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

To< ‘FH &% A3 U3T &I | Find the sum by suitable rearrangement.
(1) 23441974103 (1) 2+998+13

g IH &% JTS5eH U3T 91 Find the product by suitable rearrangement.
() 4x166%25 () 8x1769x125

T JIT TI3¢ I ITHES UST A9 | Find the product by using suitable properties
(1) 1005168 (1) 12x35

Ja fesnil & TH®™8 (Match the following)

() 425%x136 = 425%(6+30+100) (a) TSH3CH »eT JH TCEJT JE (Commutativity under multiplication)
(I 2x49x50 = 2x50x49 (b) A3 T JH IcTEdT (Commutativity under addition)

(1) 8042005420 = 80+20+2005 (c) 73 €3 I=5 = fe39I= (Distributivity of Multiplication over addition)
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10.

11.

12.

fEx g € I te 99 IA eUfdg € e & ®eT 20 §: »S TU T BT 4 T: €1 J | IAT 5 foal K9 feast It
3 foat ¥dg F9dT?

The School canteen charges Rs. 20 for lunch & Rs. 4 for milk for each day. How much will you spend in

5 daysonthese things?

TR STHt STEIT & niruet disT f Ued® ot 98 AHRTT § 40 ®ied Ued® gaeTienT | niares fes BRd
2ot f9 100 Fteg Ued® ITeenT | 7ad Ucd® T H& 50 T: Y3t Bied 9< 37 8A% Ued® '3 J& faar
CEEEEM

Taxi driver filled his car petrol tank with 40 liters of petrol on Monday. The next day, he filled the tank with

100 litres of petrol. if the petrol costs Rs. 50 per litre. How much did he spendin all on petrol?

IGES E'SHz?S\ T niftmis I9x fEA © niai® © UT &9 1 (Study and complete the pattern)
1x8+1 =9

12x8+2 =98
123x8+3 =987
1234x8+4 = 9876
12345x8+5 = 98765
X_+ =
X+ =

39T JIT ©f 293 A9 HS UIT I | (Using Distributive property, Find the value of the following)
(a) 728 X 101 (b) 4275 X 125

€ nifgdnft Aftmret fog fagt § £ =90 © Ju <8 T9ATfent 77 Aaer J18ed9e: 4 ¢ fer 39
TIHTTENT AT AT J-1 8

Give two numbers which can be represented as squares? e.g 4 can be represented as-: ¢

T wifadrt Aftmret fod fagh § fea nrfes © qu &9 T9rfenr 7 Ager J18Tw9s: 6 § fem 39t

TIATENT AT AET J- 1l AT
Give two numbers which can be represented as rectangles ? e.g 6 can be represented as: . ¢ or

WS-03(B)



Worksheet-4 wfyet s s 3 - g<t

(Playing With Numbers)
1. Jo f&tmit T JIesds 9581 (Write all the factors of following.)
(a) 12 (b) 8

2. I fsfunt T ufo® @-2 e f&9 1 (Write the first two multiples of following.)
@ 7,__,__ (b)y 14,__,_ © 9,__,__

3. a3t &t Aftmret feg wis™a Aftmiet €3 3% &arg | (Circle the prime numbers.)
(a) 2 (b) 9 (c) 3 (d) 11 (e) 15

4. fE3oit It Aftmret feg' 3/ Aftmret 83 di® %S | (Circle the composite numbers.)
(a) 4 (b) 7 (c) 9 (d) 10 (e) 5

5. HJT IEat 83 (V) 3 I®3 JEat 83 (%) T fda S|
Mark (v') on true statement (%) on false statement.
(a) 3 HF 3 2t oI Mg Hfgn J| (3 in the smallest odd prime Number.)
(b) 63 & g™ Rt J1(63 is a prime Number.)
(c) 12 f&x o Afem™ J1(12 is a odd Number.)
(d) AT nigTa Aftmret 2iq gt I& | (All the prime Numbers are odd.)
(e) AT A3 Aftmiet 3/ g I& | (All the even Numbers are composite.)
(f) 1 f&X nig™ Afun T1(1is a prime Number.)

6. nEdH Hftmiet @it © 8¥rads’ fe€ 1 Give two examples of perfect Numbers.
7. Jo feftmrt fog fqodntt Aftnret 3 &% ydt 397 391 I AEh 75|
Determine which of the following Numbers are divisible by 3.

(a) 123 (b) 336 (c) 127 (d) 59

8. Jo f&fumit @ ATS grEays UsT A9 1 (Find the common factors of following.)
(a) 4 M3 15 (b) 12, 16 »3 18

9. JETHUS TH YJ I3 | (Complete the factor tree.

(a) 0 (b)
>/6 Mg ~ 30
6., 7™ []
2/ ] ¢ 10
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10.

11.

12.

13.

14.

Js fsfut™ @ H. C. F. U3T &9 | (Find the H. C. F. of the following Numbers.)
(a) 24 03 36 (b) 18 ni3 60

(c) 9, 112, 49 (d) 18, 54, 81

Jot &3 Afanrt fog” faaz 73 Afg-n8™ TS | (Which of the following are co-prime Numbers.)
(@) (2, 3) (b) (9,12) (c) (9,4) (d) (15, 45)

Jat f&3 Afani™ @7 L.C.M. U3T &9 | (Find the L.C.M. of the following Numbers.)
(@ 6,9 (b) 15, 18

(c) 20, 25, 30 (d) 12, 16, 24, 36

TI i & BT AS I ST AT USTII 1 18, 24 »i3 32 3% I I< |
Find the smallest 4-digit number whichis exactly divisible by 18, 24 and 32.

AL € AT &t 3 fonast fea 3 U9 87 & 9% HY a9 I6 | Bt © qeH € St gHeS 80
HH, 85 AN 13 90 AH J& | fegst fed" 39x faBasr foat g3t 9% fa 89 B8R 8 y9-y3 aeH f<g 3

J& | In a morning walk three person step off together their steps measure 80 cm, 85 cm & 90 cm

respectively. What is the minimum distance each should walk so that all can cover the same distance in
complete number of steps.
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Worksheet-5 Hesmt JuT aIfss ags=t g - <t
(Basic Geometrical Ideas)
1. foq oam 3 fis fig mar@ w3 feast § du-2 & fo8 foost § 73 & 98 Jundst ¥ & foit
Draw three points on a paper and give them different names.Join these points and name the line

segments made by joining these points.

2. #I9 € Juet 3 fEq AT g 37 3t G et Qe I |
If two lines have one common points then they are called

3. € Juet fEx 3 e fienr 3 e AaEmr 351 (Al 383)
Two lines intersect at m ore than one point. (true/false)

4. 2 3 frmmer Juet feg I fag 3 o AaEMt I8 | (AJ/A®3)

More than two lines intersect at one point. (true/false)

5. fd3 92 fo39 feg o= ¥ &' f54 | Name the angles in following figure.

6. &% &3 fg39 9 Gust fient ¢ & fod fros:
Give the names of points in following figure which are:
1) f337 © »ied A3 I& | Inside the triangle.
2) 135’?[ T U3 I510n the triangle.
3) {337 © 9799 AfE3 I& | Outside the triangle.

7. TET JET AT YT UE my § & I 3T QT ITxg Jet JI
If any curve does not intersect itself then the curve is called
8§ I9 FAE % IIFH causeual

A polygon with four sides is called
9. Jed fog' T & AE T Aer g9 &7 IR T

A chord passing through centre is called
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10.

11.

12.

13.

14.

15.

f&3t arst 93939 ABCD f<9
(®) FeHy A=t @ 73 f&d| b
() FI=MT 3A=T T A3 fou |

(¥) ®ae d&F © A3 oy |

In Given quadrilateral ABCD write

a) pair of opposite sides

b) pair of adjacent sides A B

c) pair of adacent angles

Jot fashit fes" Y& =a9 &R |

Which of the following is an open curve?

{a) (b) wy

Jo fost fozg feg' 8 3377 T & @R |

Give the names of 8 triangles in following figure .

999 3 AfE3 It © i oG 3 g5s @@ unds § o Jfde 787
What is the name of a line segment made by joining any two points on a circle
T TR A Go g A dae S Al AR e I ANs TR I Je I G ST &

Ifde I | A point which lies inside the circle and at equal distance from all

points on the circle is called
f&x f3g7 ABC sT'8 fere viegdt ga7 feu fex fig D®@1 D ffgnif ABn3 C o

e8| TR 3w s smar g Ifanr Aer J1 fegst T @ & f&d |

Draw a ABC and take a point D inside it and join D with the points A,B and C. Now tell in how

many parts the triangle will be divided and name these parts.
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Worksheet-6 wrafad »rarat § AHgST I - 8t
(Understanding Elementary Shapes)
1. HI® dE = HY fdar Jer J? What is the measurement of straight angle?
2. AT T MY fdar Jer J? What is the measurement of right angle?
3. 90'IFECATY afde I&5?
An angle smaller than 90° is known as
4. SI = H 180" 3 IF I 360° 3 27 IT B fde T
An angle measuring between 180° and 360° is known as
5. Jo fou et dort famHt @ sy fsg | (Name the type of angles.)

(a) 30° (b) 55°

(c) 110° (d) 320°

6. YJ¥ I B39 fomm 5 Wz €9 fd& faardt = d& Jer J7 Find the angle when we turn from East to

North direction.

7. da9 feq AEla® € ofeg @9 36 397 I 37 & SIr31g 3797 I s f3arat = J& d=am?
If there are 36 spokes in a wheel of a bicycle, then what is the angle between two adjacent spokes?

(a) 10° (b)) 15 (c) 12° (d) 20°
8. a9 w3l T e T el 6 3 9% & wIT < forr &9 fex AHae 3 Wi 3 89 fd8 77 & gaaft?

If the hour hand of a clock moves right angle clockwise from 6 then at which number it will reach?

9. niagdl € 8T niyd €7 1 &9 Jue 3 g5¢ I67

Write the English alphabets which are made of perpendicular lines. , ,

10. I35 fou f33aF T yarg fod | (Name the type of the following Triangles.)

oy 4cm

5cm lcm 5cm
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11.

12.

13.

14.

15.

16.

17.

WITE it qEt @ BEads’ fef 1 (Give two examples of cuboid)

I%6 © Mg fam nigrg e JeT 3?(What is the shape of base of acylinder.)

wE ¥ fda @ I I& | (How many faces are there inacube?)

8r f337 T o ©F farer fea 3= 90° I= I | (Name the triangle whose one angle is 90°)

f&x Uagda g8 ni=3 feAe feage < fa=st ©H 1 (Draw a pentagon and count the number of

diagonals it has.)

fex 2-37 T 32 f¥39 581 AT fan 3 fiugt § Asx fa f3gm g8 (Draw a rough

sketch of a hexagon. Connecting any three of its vertices, draw a triangle.

fex vmiz AB,Jund3 CD €3 B9 I, w3 feg miur 8 fiT P €3 2T T51 £L4PD T HY &t I?
(A line segment AB is perpendicular to a line segment CD and cut each other at point P, then find
LAPD.
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Worksheet-7 AYss Afemret I - 8t

10.

(Integers)

Jo it Aftmret ?5 Aftm™ JuT 3 TIAE | (Indicate the following numbers on number line -5,0,2,-3

< ! | »
T »

—— T T T 1
6 54 -3-2-101 2 345 6

Jo f&ftmtt T €3 f&d | (Write the opposites of following.)
(a) ¥ 500 &9 (% 500 profit) (b) 50 f&.HT. YI< T (50 k.m. towards East)

Jo feu Afanrt fegas Adnt AySs Aftmret fau |
Write all the integers between the following pair of numbers.
(a) -2 ™3 0 (-2and0) (b) 23 5 (2and5) (c) -4 ™3 -2 (-4and-2)

fgosT qg5 A9 I 3 fags™ 35 7 (Which of the following statement is true and which is false.)
(a) A8 3 2t foe3Ha HYTs Aftmm -1 T 1(-1is the smallest integer)
(b) -2, 0 & ¥ U™H AfE3 I (Afem™ Iy 3) (On number line -2 is situated to the left side of no. 0)
13 T A33HS @W)EBM St I? (What is the additive inverse of 13?)
Afth™ JuT T YUdT &9 8T Aftm usT &9 7 3 3 4 We J|
Using number line find the number which is 4 less than 3.

»
»

<
<

- —
-2-1 01 2 3

>, < T YUdT A9 3IBAT 9 | (Compare using >,< sign)
(@)1__ 0 b)2__ 5 ()12 17 d)-a__ -2

H3e® U3T I | (Find the sum of following numbers.)
(a) 120, -250 (b) -20, 20 (c) 125, -67

U3T &9 / Evaluate:
(a) 20-(17) (b) 15-(-2) (c) -15-(4) (d) -27 -(-2)

> <qf =% fors & & y@ @<t 391 (Fill in blanks using >,< or =)
(a) (-20) - (-10) ___ (-15) - (5) (b) (-12)-(2) ___ (-3)-(-7)
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11. A3e® U3T &9 | (Find the sum of following numbers.)
(a) (-6), (-4) & 15 (b) (-312), (39) & (192)

(c) (-50), (-200) & 300 (b) (136), (-212) & (192)

12. Rt JuT T YGdr J9¢ I, NS U3T A9 | (Using Number line, find the value of )

< [ 1 1 1 1 ] ] ]
Y 1 1 1 1

L L : :
540302 -] 0 1 2

w +
~+
W

13. At JuT T YUdT J9¢ I€ HS UST 9 | (Using Number line , find the value of )
(44) - (2)eeemeereeeeeereeeeeee o

<
) T T T T

L : :
540302 -1 01 2

w +
N
W

14. Aftmr Jum € =93 O3 fﬂ? H3e® U3T &9 (find the sum without using number line.)
(a) (-225)+(100) (b) (-150) + (-25)

(c) (-316)+ (-10)+ (136) (d) (312) +(-50) + (-62)

15. H® U3T &9 / Find the Value of
(a) (-7) - 4- (-6) (b) 50-(-20) -(-6)

(c) (-11) - 8- (-12) + (-3) (d) (37) +(-2) +(-65) - (-8)
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Worksheet-8 fgst ™3 - <t

10.

(Fractions)

3 T »iF M3 IJ €R | (What is numerator and denominator of fraction %?)
Y (Numerator) = JJ (Denominator) =

85 Qg Afunt I 7 fEx o7 39T EIATETT J | (Fraction is a number which depicts part of a

)

fex f3a fog famer »im 5 3 I9 9 9| (Write a fraction whose numerator is 5 and denominator is 9.)

g5 & fHHgs ¥ <9 &y Aae ot ( fraction can be written as mixed fraction.)
faast fda I3 32 %T—!’f % (Which fraction is greater %or % )

fest Jst fgs © YE&HTT, STdIf ?5 gfent-nifas a9 | (Shade the diagram according to the given fraction.)

(a) (b) 3 (c) 3

2 4

.|>||\>
—

5 A3 8 fife < fagst 86 I2/What fraction represent 5 seconds of one minute.

J5 fodnrt 3t Ef EGES SR feg ydre 9 | (Express the following fractions into mixed fractions.)

I fedtort far Ehnft (Gt f35) 35 St fad |

Write the equivalent fractions of following fractions (Any three)

2o b) 2 = i
(a) (b) =
HI®3H U f&g g€& | (Change in simplest form) e
(a) gs_g S (b) gg = reeeeeeeers

11. > <7 =T f&HS BAG (Put the symbol >,< or = in the following.)

12.

218 18 15 2
@ 71 ()18 71 @20
& I3/Solve
8 + 13 21 17 s -1
@ 15" 15 b3~ 30 ©% 79
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13. M%@a@z@;—w GEIES §m§;— 3T J9HG ¢ 37| ©9 § TAse T I fQar fIAT fgsT
famir?

Aman gives 1/2 part of chocolate to Harpreet and ;— part to Harman what is the total part of chocolate
he gives to them.

3 ~ O )
14. 5 ¥ 3% 8T fgs usr&d famer (Findtheequivalentsfractionto%whose.)

(a)nim 15 Je (Numeratoris 15) (b)Tg 45 J<| (Denominatoris 45)

15. Eﬁﬁmf&& | (Write the correct number in the box.)
5 _ 15 .0

P L3 =
(a) 60 |:| (b) o1 120

16. Jo' feodnft f$at & AI®3H Ju <9 g7 | (Reduce the following fractions to simplest form)

48 15 84 12
(@) 25 (b) &5 (©) 58 (d) 5

17. Afofr Ju {19 w3 It fedinr fat § ffe gu f<9 E9A8 | (Draw number line and locate the points on it)

() 1,23 7 (i) 4
8 8 8

2 3 8
5 5 5 5

1
8

18. :1),—2 T 89 3% 85 uzT %9 fareT 99 7 9= | (Find the equivalent fraction of % with denominator7.)
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Worksheet-9 THHB< ™3 - <t

(Decimals)

1. J& fsftmr ?5 THH®S JduU f&9 g€ | Convert each of the following into decimals.
1 _ A 5 4 _
(a) E o (b) 100 o (C) 10 - (d) 3 -

2. Jo fBitmit Aftmret § FETea He Aoe 9 ffimr fomr 1 fer S8 uddt et 39|

The following numbers are written in the place value table. Fill in the blanks.

(1) (ii)
At | gt | fearst | emet At At | gt | fearet | emet A<t
Number | Tens Ones Tenths Hundredths Number | Tens Ones Tenths Hundredths

(10) (1) . L (10) (1 1 L)

10 100 (1) 100
20.5 2 0 S S 35.55 3 5 _ _
4.2 0 2 - 15.42 1 4 -
— 5 0 0 3 _ 4 3 2 5

3. foSt It Aftmr Jur 3 AfES A, B, C, D faen & TmHeR Aftmr oy

Write the decimal number represented by the points A, B, C, D on the given number line.

4. Is fou eaHem=t §° AftmT JuT 3 TIAE | (Show the following number on the number line.)
(a) 2.2 (b) 3.7 (c)1.5 (d) 4.6

0 1 2 3 4 5

5. Jo f@ftmrt fed” 39 § TAH®= gu *8 f&d | (Write each of the following into decimal form.)

2 9 2 6 _
(a) 200 + 30 + 5+E +130 = (b) 23+ EH@O =

6. Jo FIF T AUTEST 5% A9 & _UTT A9 TAHBR Y U f&d |

Complete the table with the help of these boxes and use decimals form to write the number.

(i)

XIXIXIXIXEXEXIXIXTX XIXIXIXIXXIXEXEXX

IR R

XIXIXIXIXIXIXIXIXIX XIXIXIXIXIXIXIX SRS TH< H<T At
XIXIXIXIXEXIXIXEXTX Ones Tenths | Hundredths|Number
XIXIXIXIXIXIXIXIXIX

XIXIXIXIXEXEXTXIXIX

XIXIXIXIXIXIXIXIXIX

XIXIXDXIXEXEXIXIXTX

XIXIXIXIXEXIXIXIXIX
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7.

10.

11.

12,

13.

THH®S JU feg fs¥ 1 Write the following into decimal form

(a) 5 UR g quT &9

5PaiSE aSrUPEES i,
(b) 6 .M & HieT <8

Becmasmeter e
(c) 70 faHt. 5 Wt & 1. Hiea f<g

70km5maskim. e
(d)2 g & fa. arH <9

2gramaskg. e
I fefmrt Aftmret & #3 (Find the sum in each of the following.)
(@) 0.1 +1.0ucceeeeeeeieeeeieinns (c) 0.475 + 0.23.ccceeeeeeeeeeeeeeeeens
() 0.35 +0.47.oooooooeoorr. (d) 25.25 + 0.2525rvvvvvooeo

J5 fsfamit § weTs | (Subtract each of the following.)
(3) 8.4 1T 2.5 i (b) 9.756 - 6.79. v,

Jo fefant TrHee Rtmret & fdat © QU 98 fou 3 AossH qu e fod |
Write the following decimals as fractions Reduce the fractions to lowest term.
(1) 21.02..ccccieeeeiees () (1) 0.06....cueeeereeeenee.

Jo feftmit ffanr feg' 23T Aftmr 3 JI®T ®AS | (Circle the greater number.)
(@) 17T 0.9 Zveooeeoreesrnn, (0) 2577 0.25 =.vvooveerreern,
(0) 2.4 77 24.0 =.vooovveerr, (d) 0.50 77 50.0 =rr.rvoorrere..

HII &€ & 500 IH MB, 250 JH fAHeT THIT, 700 arH fumd, 500 TH HEY, 100 JH »Edx
M3 300 IH HE! udlel 3T GRS d&% X6 <r € Aot udet |

Nandu bought 500g Potatoes, 250g Capsicum, 700g Onions, 500g ginger and 300g Radish. What is the
total weight of vegetables he bought.

Ifger € HF & 8AE 10.50 9. &3 »3 fusT & 15.80 9. €3, &9 §AS 5.50 9. ¥99 &9 &3 37T €A
3% faa 9. 99|

Radhika's mother give her ¥ 10.50 and her father give her ¥ 15.80 she spend ¥5.50 from this Amount.
Find the balance Amount left with Radhika.
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Worksheet-10 wigfant T ygus ™3 - g<t
(Data Handling)
1. wifiz 3 2fen T I3 9iF mHts o S99 99 979 fos gme 0T & 897t vt i3 Jo fadt
A9 gEvEt| 99 fig & Guret § fogfuz I3

Amit plants some seeds of gram and he measured the height of plant after every four days. Plot
the height of every point.

10
e ot Gt An fRT :
fea (Day) = 8
( height in cm) 7
0 0 g wﬁ‘:
4 1.4 :
8 5.3 2 Eot.hrea Ll

12 9.5 i

16 10.9 0 4 8 12 16

s

2. UH f85-f3a mfgat dar, ufensr, gfésT, ATfIT i3 edtede €9 AT HOlS &g ST arghit
gt @ Afunr I&T fEST It I-The number of cars sold in month of september in five different cities
Khanna, Bathinda, Sirhind, Patiala and Faridkot are as follows.

HAfIT (City) HaT (Khanna) | Ufenim®(Patiala) | 9f837(Bathinda) | AGfJde(Sirhind) | €dteac(Faridkot)
It arEort

gt 600 300 400 200 500
(Sold Cars)

guIas HYe BET 937 e YT a9 |

Complete the Pictograph of following table Fo3 (Symbol)- % =100 I7J7 (Cars)
&' (Khanna) ey e e s Y e
UfenmT(Patiala)
gf&37(Bathinda)

Aofde(sichind) | i @
gdtede(Faridkot)

3. m%mwéﬁﬁmﬁmmé@me@Wﬁmw%*ﬁg%&
fefenraet & goer fder J1 AIet f&9 fefenraei &t Hftmm yst @31 Ronald prepare a table of
favorite fruits of the students of his class. * symbol indicates a student. Complete the number of
students in the table.
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4.

fefenraetnt &t Aftprr

5 (Fruit) fég (symbol) (No. of Students)

I (Banana) r" * *** ** *

A3 (Orange) _ * * * *

e @ | e e ek

nHde (Guvava)i;@ * * * *

far fiis 9 ATaR @it IS J| AHE'T 3 HAIS'J S AIAA THE MTE Hfani ot faest fosaqe
I TIATEL It I Jot I3 f93Tqre § fmrs 5% ug & 839 feB I There is a Circus show in a

village. Number of children who are coming to see the circus from Monday to Friday are shown in a

Pictograph. Answer following questions by reading Pictograph. (A3 (Symbol)- 2 =25 g9)
AHST (Monday) )
HA®STT (Tuesday) | 00 00 0e
gUST (Wednesday) | J¢ 00 00 00 ae

399 (Thrusday)

" "
St St St A

§-
#-
(2

Had<™d (Friday) o &Y €Y &
8) Hormerg §° faa 99 ATH THE MTE? How many children came on Monday to watch circus?

) far fes A 3 dU 99 AJIH 2uE e ni3 fa3? On which day maximum number of children came

and how many?
¥) AHTT »i3 JUS9 § d& 36 Sfontt & Agar ©ft? Total number of children who watch circus on

Monday and Wednesday?

ARJ 6 20 3 Tufdgd 12 =0 39 I9 U2 ff9 999 3° J o AT TSt dightt &t At J&T 23 e
eNTIT TIATET It J1 S § AHS I 837 fef

The number of cars pass through crossing in every hour from 6 AM to 12 AM are shown by Histograph.

Read carefully and answer following.
) A3 3 U wiEeHEr A2 J w3 A&t I? When is maximum number of transportation and how much?

) AS 3 Ufe MeHTEr A2 I i3 fdat I? When is minimum number of transportation and how much?
T) 8 3 10 T 3IX A% oot »e=Et I? From 8 AM to 10 AM how much transportation is there?

1£00

1200

1000 +

200

€00

It & FfipaT (No. of Cars)

400

00

0
67 7-8 29 3-10 10-11 11-12
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Worksheet-11 CECILEI] 3 - 8=t
(Mensuration)
1. A3 IAe fies R ufoHy © fimrs § 993 @9 yuiar 9 fenret Afer J)
e fa fea fors fags™ »uE 83 € 979 uR g T3 &arge gder J|
feg fadhit U Afashit <t Qerggst feG
The idea of perimeter is widely used in our daily life. For example a farmer who
wants to fence his field. Give five examples of these situations .
2. ASE YIt 3¢ (Fill the table)
AHEJZH €7 & FHTIST (Regular Shape) UfIHU/UTT (Perimeter)
(Name of regular polygon)
IJdT (Square) 4 X f€x AT &t Bt
4x (Length of One side)
(Equilateral Triangle) ,../ \
/ﬁ \\.\.
AHUASH ( Regular Pentagon) .//\\\’
.‘\.\\;‘;.‘ -----
AHE3H (Regular Hexagon) <:>
3.  Jat fISit nirfg=Entt & ufgrmy usT &3:(Find the perimeter of the following figures:)
A 100 AH B
60 AH
D " C a0 e UfgHU(Perimeter) = AB + BC + CD + DA
= F o, F o
A n UfgH™U(Perimeter)= AB + BC + CD + DE +
A ¢ =EF +FG +GH + HI +
K 3dem 3 em o
EI—L c—I: =J+JK+KL+ LA+
i‘l 1 F ra
B8 = + o + o, + o + o + o, +
H. g
R o + o + o + o + o F o,
UfgHU(Perimeter) ... + ... + ... + o +
m: fem T N + ... + e
v 4cm
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10

11.

IR AH3® nifgst © 439es ©F fearet of det 97

What is the unit of area of plane figure?

HITT 150 HY. St »3 80 HY. I3t @ fix ugx &g A<t J1 89 fer uax = yar 999 wargt

JI BF & I At gt uzT A9 |

Meera goes to park having length 150 m and breadth 80 m. She completes one round around the park.

Find the distance she covered.

f&q Ul @7 23T 30 AH BIET T I I9A IAT ©F Buet s IRt AT Ul 5% AHaEgH gafent

AT I?2(There is a 30 cm piece of string. What will be the side of a regular hexagon made by this string?

fom nrfgst = ¥3de® <u J=d™? (Which figure has larger area?)

3 AH

4 AH

4 TH

1 TIa1 Hteg e fI& TIar AH JT I&? (How many cm’ are in 1m’?)

A9Et It &3¢ (Fill the table)

nifes/eadr &t saret fes/eadr <t g3t WfEs/e3d & 93J9e®
(Length of rectangle/Square) (Breadth of rectangle/Square) (Area of rectangle/Square)
3 AH 2HH L .
5 AH 4HH | e
7 HAH THH | s

B mfesTaTg 913 € U39S® 36 99T AH J W= oAt ®gm=t 9 AH J1 913 ©f 9378 U3T &9 |

The area of rectangular card is 36 square cm. and its length is 9 cm. Find the breadth of card.

ffa Tgararg use T ¥39Es U3t oJ Al 8 gAT & ®saret 4 AH J9 |

Find the area of Square plot whose one side is 4 cm.
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Worksheet-12

1.

2.

Hrarfss

(Algebra)

Et T I 83 5yd g8 © BT FITE st & Bt T w2t foun Uzt I3 1 foud

f&uz et fq 9% Aft T YUiar a9 | Find the rule for number of matchsticks required to make
the following matchsticks patterns. Use a variable to write a rule

FITET ST T Aftmrt 3n, n T HS 1,2,3......
No. of Required Matchsticks = 3n, where n=1,2,3

FITET ST T Aftmrt = L, LT HS 1,23,
No. of Required Matchsticks =

FITT St T At = .., L TS 1,2,3......
No. of Required Matchsticks =

AT § YT &S Fill the Table:

fasT=t (Books) fasgt e e feniAx (Expression)
(Price of Books)
V/ 109U

Y 9

Y 9 9

YV IY9YY

Blor & Uss T K Ude ydiT | I & B &% 2 99 Udle U HIle | IO m3 Bler
I% yJlY 9T &% Ude feniax Idt TIrg |

Leela buys K packets of pencils. Radha buys packet of two pencils more than Leela.
Write an expression for the total number of packets of pencils.

AugE fout &9 9% & @93 a9d Jo fedt Aaet ydt a9 |

By using Variables in common rules fill the following table:

O = UfTHY = 1+l + 1+
Perimeter of Square

® WES T UfHY = e | T

Perimeter of Rectangle

Perimeter of Circle
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5.

A Ydt &3 Fill the Table:

Hrarfes & fauH SCINCVACES] fevins
Rules of Algebra Example/ Figure Expression
S _o NS I-:'-[-l‘if.l"" 1 y
T Aftmiet © A3e® € w0 7
JH TcETT I i a+b=... ...
Commutativity of .
addition of numbers. 44..=7 M3 3+..=7
T Aftmiet T JEee®
T gH-IcTedT
Commutativity of - axb=... ...
multiplication of two 3e2=2-3
numbers.

IHBH A3 BET fH®'® A9 Match the columns A and B:

Column A

(i) c?j 5 3% I II6 3(c multiplied by 5)

(i) zfe8" 9 we@= 3(9 substracted from z)

(iii) p & 4 &% 391 FI& 3(p divided by 4)

(iv) & TITT A96 3 (q is doubled)

(v) Ufg® vy & 2 3% I&T I9d Y3

Jeoes 9 5 weds 3|

First y multiplied by 2 then 5 Subtracted

from the product

Column B
2q

2y-5
z-9

5¢c

P
4

feriaa UST &9: IH O% HH &% 55 §3% fimier g6, Aefq BH 3% IaH <9

% XIS IS |

Write an expression: Sham has x bottles in a box. Ram has three bottles more than

Sham.

IHH 1 v 11 € TH®E A9 Match the Columns 1 and 11:

Column ||
(i) 2=7-x
(i) 3b=21
(i) 4+c=12

(iv)

=3

[G]=]

Column 1l

15
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Worksheet-13 MEUTS M3 AH'S gU™S ™3 -8<t

(Ratio and Proportion)

1. 939§ o0 3 o fod et @ 39 6
(Read Figure and answer following questions:)
€) fa& =gart &9 Jar 13T fam I? How many squares are shaded?
) fI& =991 €9 J91 &It 3T fami™ I? How many squares are blank?
T) Jd1 A3 a1 €7 Jadts I &TH WZUTS U3T &9 | What is the ratio of shaded squares to blank squares?
2. A9 ?5 ygr F9: ( Try to complete Table:)

?3'} fagat <t Afar Ifanrt &t Rt nigu3
sr. No Number of Triangles Number of Stars Ratio

3f3gAt 1 4 39 A 3.4
) A AA * * * * 3 Triangles : 4 Stars or 3:4

) A AAA | FOA A A

LLZEE L3I L
) A A * * * Triangles :....Starsor

d) A * * 1“35’?—17 = 1~ I~ LA

o v ~ ~ o . o - +

3. 939 1S9 '0O'n=3 '+' € nigus § A9 QU A f5Ba3H u <o fed | 0Reo
In Figure What is the ratio of 'O'to '+' in simplest form. 0000+
0000+

4, fgzg ygr JJ: (Complete the figure) J

5. 8 et v 4% 50 UR »i3 ¥ oade T H® 10 JUT I et © & € Iade ©
H® 1% MEUTS U3T 9 |

One Toffee costs 50 paise and cost of one chocolate is Rs. 10. Find ratio of cost of toffee

D%i:i"ﬁl‘f;'

to cost of chocolate .

6 HH® WdUTs U3T &9 (Find Equivalent Ratios:)
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HS W3 Hg © &9 20 AFT § 3:2 niguts &9 3| Distribute 20 apples between Sonu and Monu in 3:2 ratio.

, 24, 9, 12 AHS nigums f&g J AT I&, nifddt Bftmi u3T

feg & wifadt Aftmr J far &%

, 24,9, 12 are in equivalent proportion. Find number in box.

=gl
|

There is a number in box

such that

9. TIH S 60 FUT T 2 fA.3. AT IT »3 IH6 & 120 JUT ¥ 4 fa.qr.
7Y 9, foars mg Hvfdar 297
Rahim sold 2 kg of Apples for Rs. 60 and Roshan sold 4 kg of Apples for Rs. 120. Who gained more profit?

10. AHS »idut3 A9 udt 9t
. S 7 63
(Complete equivalent ratio table)
8 32 112
11. fE8q exedt fox fos &9 100 a9t g=@<t I 37 UA fos' &9 IS a9t geredn?
If a factory produces 100 cars in a day. How many cars will be produced in 5 days? s

5 AgTHSt T H® 15 qUT I 3T ¥ ATt v ¥E & dedr?

12.
5 Strawberries cost Rs. 15. What will be the cost of One strawberry?

Hog 4 Ust T & 12 JUT J 37 1 Us € ¥ of d<ar? 3 Ust T §® of d<ar? 16 Ust € HS of J<ar?

13
4 pens cost Rs. 12. What will be the cost of 1 pen, 3 pens and 16 pens?
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Worksheet- 14 AHTHST g - a<t

(Symmetry)

1. TSt nrfgsort €8 AHHET nifgsert 3 a9 A

&S | Circle symmetric figures. ? i i B
P =
! -

2. Jo &3 93 939 &9 Teea Jur fudt ot I
Uzt 49 f& faadt aHfH=Et Sur 3 wis faa3t adt1 of 7 & &9 €39 fe€ 1 In the following figure

there is a dotted line on each figure. Find that whether the dotted line is symmetric line or not. Give

answer in Yes or No.

3. 35 R Rt § uar o, 7 R whe S e et o 92

Complete the following figures, where dotted line is a symmetric line.

5. Js a3 fI39t &9 AufH3t Suret & faest €71 How many symmeteric lines are there in each of the
following figures?

T
IS ___%
¢ o
vo
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6.

7.

A9et yIt 3 I Fill the Table.

(Equilateral Triangle)

AHIHSY Suret <t "ftpor
g (Shape) g3t (Figure) (Number of symmetric
lines)

(Square)

nirfes
(Rectangle)

AHEgH! 337

(Isosceles Triangle)

)

gdJdd
(Circle)
LLEEEES]
(Rhombus) 5

gt & =gons e Ga faas mm a5 fiss & ABCDEFGHIJKLM
NOPQRSTUVWXY?Z

In English alphabets, Which are the alphabets

whose

8) mHiiEt Jur udt 32
symmetric line is vertical
) AHTHST Jur &<t 99
symmetric line is horizontal
T) et AHfHSt Jum &7 39

No symmetric line

H) 2=t vi3 uy3< g2 AHHST Juet 3=

Both horizontal and vertical symmetric lines
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Worksheet-15 yGifara frmmfust

(a)

(c)

(e)

(Practical Geometry)

Js &3 39T € a0 EH | (Name the following Instruments.)

W ( b)
012 3 45 6 7 8 910111213 14 15 16 17 18 19 20 21 22 23 24 25

-

LR &\

Jot &3 Jundst & Furet € € Hew 3% UST 9 |
(Find the length of following line with the help of scale.)

(@) A B (b) ¢ D

UIAT B HEE &% X 939 9878 »i3 BT Je9 § JEf o fe|

Construct a circle with the help of a Compasses and name its centre.

32 ©f Hee &% fEx Jus AB fig fAret &gt 7.5 AX < |

Draw a line segment AB of length 7.5 cm using a ruler.

f&3 I8¢ U3 AB ¥ 9799 fast U 3 fox Junds 9376 |
Draw a line segment equal in length to AB without measuring AB.

A, B

WS-15(F)



6. Jo f®Y dT, d& HUS ©F Hee &% I8 | (Draw the following angles with the help of protractor.)
(a) 50° (b) 45°

7. 147° HU & J& € 96T d& HUR U3d &% Jd, M3 AT AHEsHx f¥aT o MU W3d & Hee
&% fdg | Draw a angle of 147° with the help of a protractor and draw its bisector without using
protractor.

8. T M3 UINT T HET &' Jo &8 oF 958
Construct with the help of ruler & Compasses, angle of following measures.
(a) 60° (b) 90°

9. 6.1 A BaEt T fEx Junds pQ 8 w2 feg PQ & fonm He I fex 539 58|

Draw a line segment PQ of length 6.1 cm and Construct a circle with PQ as diameter.

10. 9.5 AN &g f&q Juns fig ni3 BAeT 39 AHES X i |
Draw a line segment of length 9.5 cm and construct its
perpendicular bisector.
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Worksheet-16 Class VI  Unit test-1 ™3 - g<t
niftmrfe- nrushert Aftmret § 77Ea™ (KNOWING OUR NUMBERS) Y3 Hftmfet (WHOLE NUMBERS)

1.

10.

11.

11.

Which of the following is the smallest odd Composite number ?

a)5 b) 21 c)9 d) 15

2735 f&9 5 = AEBA H® J: Place value of 5 in 2735 is:

a) fea=t (ones)  b) I (thousands)  ¢) ey (hundreds) d) TJTET (tens)

847, 9754, 8320, 571 € W FH:

Decending order of 847, 9754, 8320, 571 is:

(a) 847, 571, 8320, 9754 (b) 9754, 8320, 571, 847

(c) 571, 847, 8320, 9754 (d) 9754, 8320, 847, 571

9,99,999 &9 1 735 3 Y3 der J:

On adding 1in 9,99,999 we get:

(a) 8 I3 (one crore)  (b) & wixt o IT 3 IST Atmr™ (greatest six digit number)
(¢) 9,99,998 (d) F3 wigt &t 22 3° &2t Afamm(Smallest seven digit number)
8932401 = feAf33 u:

Expanded form of 8932401 is:

(a) 81000000 + 910000 + 310000 + 21000 + 4100 + 11

(b) 81000000 + 9100000 + 31000 + 21000 + 4100 + 11

(c) 81000000 + 9100000 + 310000 + 21000 + 41000 + 11

(d) Busa3 AT Tt 1( All of the above)

& fidtarH 3 foa fagaH geer 972

How many milligrams make a kilogram?

a) 10 b) 1000 c) 100 d) 1/100

I Tt f&5° 69 & IHs wix of J=ar?

Which of the following is the Roman numeral for 69.

a) LXXI b) LXIX c) CXIX d) CXXI

I ottt 5" fagsT nigedts 39

Which of the following is meaningless?

a) VVII b) LIL c)IvC d) VI

Jo feftmit 9" fagsr feasy Aftmr & 333 UArg By fEdt § wigt &g =9 foor 37
Which of the following represents the numeral for Nine Crore Fifty Lakh Twenty One?

a) 90050021 b) 9005021 c) 9000521 d) 95000021

Which of the following is the smallest whole number?

a) 1 b) -1 c)0 d) fegat f&9 a€t &dt(none of these)
Which of the following is the smallest whole number?

a) 1 b) 0 c)-1 d) 2

Jo fsftmit f@8° I%3 T&: Choose the false statement?
(a) 1 78 3 2t g3 At I1 1 is the smallest Natural number.

(b) AT U3 Htmi™=t, uges Aftmiet Jenrf I&1 All natural numbers are whole numbers.
(c) 0 Aftporr 1 w7 U239 J10 is a predecessor of 1.
(d) 0 = U239 £ y3Is Aft™ J1 Predecessor of 0 is a whole number.
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

799 avi3 b T Yigza Aftmret 3T 37 Ia fefimr &5 faosT s@s A9 adt T

Ifaand b are any two natural numbers then which of the following statement is not true?

a) atb=b+a b) ab=ba c) a-b=b-a d) fegat f&9 =t &dt(none of these)
Jot o3t Ao Jum ot TIAT It T2
What does the number line represent given below?
> a 4 a
70 1. 23 4 5 6.7 % s 10 11,12 13 i
b RO £ S ki 4 c
a) 4+3=7 b) 4X3=12 c) 4+8=12 d) fegst f&9 o€t &dt(none of these)

"FEt 39" 3 AE e 3 e 9 A gt 89" 3T J6 feftmrt 897 fagsT fem qus g Adt w9 foor T

“After eating 3 apples from 12, 9 apples are left behind.” Which of the following represent given statement correct?
a) 12-3=9 b) 12+3+15 c) 12-9=3 d) 12+9=3

Which of the following is the smallest number ?

25286, 25245, 25270, 25210

a) 25286 b) 25245 c) 25270 d) 25210

g9 TgIRT IT &3 J¥ viat 3, 0, 9, 1 § I3 & 99 vixt & A 3 IS Aftrr I

The greatest four digit number using digits 3, 0, 9, 1 without repetition is:

a) 9301 b) 9311 c) 9103 d) 9310

feq o &g usht 50 JIAMT f&9° 7 32 It d& »i3 18 Ut JT 3T Is fBfimit &9 faas Adt 32
Which of following is true when in a hall 32 chairs are filled from total of 50 and 18 are vacant?

a) 50+32 =18 b) 50 +32 = 18 ¢)50-32 =18 d) 50 + 18 = 32

89 ygs Aftmr fam T aet fugsa adt ger?

The whole number which does not have any predecessor?

a)o b)1 c)2 d)3
&g Aftmr 5% 3791 T T »i9E J X 8F Aftmr § T9-T9
Division by a number means, repeated ........... by that number.
(a) EEGU (Addition) (b) WETBZT (subtraction)  (c) IS FI&T (multiplication)  (d) F7ar =7 (division)
Jo fou Uegs 9 v uar fagsT g2ar?

What will be the next step in given pattern?

3-3=0
3-2=1
3-1=2
3-0=3
a) 4-0=4 b) 4-4=0 c) 3-(-1)=4 d) 2-2=0
yIs Aftmret & &S JESHA IIAHK J |
For whole numbers....... is a multiplication identity.
a)o b) 1 c)2 d)-1
Uds Hftmret @ & HISHS 3I3ANA J |
For whole numbers....... is a additive identity.
a)o b)1 c)2 d)-1
ORI 3J I Division by zero is...........
For whole numbers....... is a additive identity.
a)1 b) 0 c)-1 d) ufgs a3 &dt (not defined)

Jo Bt fS9° faast Aftmr 99 Aty @ Jizads Jot 37
Which of the following numbers is a factor of every number?

a)-1 b) 0 o)1 d) none of these (Budaz 9 It &)
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Worksheet-17 ClassVI  Unit test-2 ™I - a8<t
niftorfe - Afimrst 575 g (PLAYING WITH NUMBERS), HUSS Rftm=¥ (INTEGERS), THHSS
(DECIMALS), 857 (FRACTIONS)

1. Jo f@ftmr Hftmret feg fagst Aftmit 11 &% gTaeiar J°2

Which of the following numbers is divisible by 117

a) 2146587 b) 2146518 c) 2145539 d) 2146590
2. Hftet 5 3 12 ¥ ®.A.2. J: LCM of numbers 5 and 12 is:
a) 50 b) 60 0) 120 d) 180

3. 6, 8 W3 12 &% 4T I& TH 35 vidt &t A8 3 2 Aftmm I
The smallest 3-digit number which is exactly divisible by 6, 8 and 12 is:
a) 50 b) 60 c) 120 d) 180

4. TH, HH »3 II&H & S99 IAS T o0 I8 BY a3 8T qHEI miue™ 539 15 Afds, 16 Afds
3 18 Afds &9 YT 9% I61fdd AN e 89 e ganrst g 3 g9 f€xd J=d 7Ram, Sham and
Harnam started to travel along a circular path. They completed their round in 15 seconds, 16 seconds and
18 seconds respectively. After how much time will they reach their starting point?
a) 303 ﬁﬁ‘a’(seconds) b) 720 ﬁﬁ‘a’(seconds) c) 704 ﬁﬁ‘a’(seconds) d) 364 ﬁﬁ‘a’(seconds)

5. 1320 fegad fda 3T A=t I& ? How many composite numbers are there between 1 and 20?

a)2 b) 4 c)6 d) 8
6. IT®H A it it T M B it Hitmet a1 fHsTs a3 IMatch the column A with column B.
TBH A (column A) I@H B (column B)
36 1127 IIeH (multiple of 11)
21 12 €7 gried (multiple of 12)
18 7 &7 gIed (multiple of 7)
33 9= JH  (multiple of 9)
7. f&x &3t 3t Bftmr 2 Jr=at & Ao ot J=4M?How many multiples are there of any given number ?
a) AHH3 (finite)  b) MHAHH3 (Infinite)  ¢) 1000 d) 100000

8. 100 3 2t Tu 3 T Bar3Tg Hitmet & forest st I, figh ffgars et & wigw R’ftmr & 3=
How many maximum consecutive numbers less than 100 will be such that there is no prime number
between them?

a)5 b) 6 c)7 d) 1
9. Hitmiiet -5 »3 -1 ¢ fegxg fddt HyIs Aftmret 95?2 How many integers are there between -5 and -1?
a)5 b) 4 c)6 d)3

10. Jo it f&8° faast Ayas Aftmr -6 3° 4 <0 I°
Which of the following numbers is 4 more than - 6 ?
a) 10 b) -2 c)+2 d)-10
11. J5 f&ftmrt 9" fqast AySs Aftmr &7 gesa I »is & It fae=vx 2
Which of the following integer is neither positive nor negative?
a)1 b) 0 c)-1 d) feast feg” It &dt(none of these)
12. Jo fBfmit f&8° fags fenfAx a3° 3 We Aftmr § T9r@er 97
Which of the following expression represents a number 3 less than a ?
a) 3-a b) a-3 c)3 +a d3-a
13. Jo' 9 fags™ A3 3 <0 3 © B2 § T9ARE J7
Which of the following shows the maximum rise in temperature?
a)0'C to (3) 10°C  b)-4°Cto ()8'C ¢)-15Cto (3)-8°C d)-7Cto (3)0°C
14. -10 M3 -15 fega9 A8 3 gt ﬁ?ﬁ'c’)‘ Aftmr J: The smallest integer lying between -10 and -15 is:
a)-10 b) -11 c)-15 d)-14
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

IGISENES FT?;IGH Aftmiet @7 9331 8% TR JeT T | The additive inverse of a negative integers is:
a) f9& 31 (always negative)  b) T&™SHA (always positive)  ¢) 8t Rftmit (same number) d) fAET (Zero)

IGISELES FTEEH Aftmret T 433HS 8% THA J=T T The additive inverse of a negative integer is:
a)-1 b) 1/0 o)1 d) feat f&5° 3=t a0t (None of these)

ZfenT nifas gmar BT {86 J=dM: fraction representing the shaded portion is: —

a) 4/7 b) 5/7 c)3/7 d) fegt f&5° A&t 5 (None of these) [T

11/5 = fHra3 fS5 U J2dm: 11/5 as a mixed fraction will be:

a) 23 b) 2 c)32 d)al

fEx zraet 3 12 Vst 33 I, # fegst R9 3 fgdt »=3 5 33 I& w3 ¥7dt Ig39 I 3T IgSI' § fagst
f$& TIAEAN ? There are 12 birds sitting on the branch of a tree. If there are 3 sparrows and 5 parrots and rest
are pigeons then what will be the fraction for pigeons?

a)3/12 b)4/12 c)5/12 d)7/12

Afded »itt 32t "ieT I w3 It B ni3 with 3T uier T 1967 3 & Tt IEit amiini™? Surinder eats
half Chapati and Ravi eats One & Half Chapaties. The total number of Chapaties eaten by both are:

a) 3 b) 4 )15 d) 2

I fefimrt 1&8° faadt wmuz ﬁ?@?ﬁ’?—[ yT &9 &dt I?Which of the following is not in its lowest form?
a)7/5 b) 15/20 c)13/33 d) 27/28

faagt f854/5 ¥ 3% &Jt J: The fraction which is not equivalent to 4/5 is:

a) 40/50 b) 12/15 c)16/20 d) 9/15

A9 (Add): 435+23

a)63 b) 7 c)63 d) 63

6 U2 f&x fea & fqagt f8& I? What fraction of the day is 6 Hours?

a) 1/4 b)1/6 c)1/12 d)1/2

27.35 @9 5 @ A& H& J: Place value of 5 in 27.35 is:

a) @A<T (tenths)  b) A<T (hundredths) ¢) A3 (hundreds) d) TITEL (tens)
Jo fEftmit 29 52 qUT »3 2 UR & TAnwe U &9 fa= foue of ¢

Which of the following represents the~ decimal f(;rm of 52 rupees and 2 paise ?
a)Rs 52.2 b) Rs 522 c) Rs 52.02 d) Rs 52.20

Which of the following decimals are in decending order:

(a) 0.434, 0.48,0.344, 0.349 (b) 0.494,0.49,0.41,0.4

(c) 0.345,0.33,0.3,0.434 (d)0.4,0.31,0.410, 0.444
98.53 +100 = ..........

a) 0.9853 b) 9853 c) 9.853 d) 53.98
AT 11 + 15 + 15+ 1000 ©F THHST JU

The decimal form of 11 + % +1%10 +%is:

a) 11.448 b) 12.884 c) 12.221 d) 13.284
0.002 +2.02+0.22 =

a)2.222 b) 2.242 c) 2.202 d) 2.026
27.65+18.402 -2.39 + 7.63 =..........

a) 21.691 b) 216.91 c) 56.072 d) 51.292
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Worksheet-18 Class VI  Unit test-3 g - a<t

niftorfe- Hesht JuT aifssa arga™=t (BASIC GEOMETRICAL IDEAS), ™M&U™S ™S AH'S MEU™S (RATIO AND
PROPOTION), €t arfE3a (ALGEBRA), »TSfSX »ia™at § AHSET (UNDERSTANDING ELEMENTARY SHAPES)

1.

10.

11.

11.

12.

Y fagmg = fozr famrr f939 fam d= & sar@er 37

Which type of the angle is represented by the open book in the given figure? ———
(a) %@E & (acute angle) (b) nifix = (obtuse angle) (c) fIeBaH AT (reflex angle) (d) AHIE (right angle)
From the following, Which type of lines are shown in given figure?

(a) AH3T Ju=t  (Parallel Lines) (b) T2t Juret (Intersecting lines)

(c) f¥x g¢ WI'"f‘q{B"T (Closed figure) (d) feast feg" It &Jt(None of these)

Jo feftmit feg' fagsr AHI3T Juret &t Begds § Tamger J°

Which of the following represents an example of parallel lines?

a) A © &% &dle &9 (The adjacent edges of a table top)

b) 9% 313t T UedT (a railway track)

c) »ug ' X' 98T BET TI3 JUHESF ( line segments forming letter 'X ')

d) »iug 'V' =T8T BT T93 JUHES (line segments forming letter 'V')

Jo foftmit 28" famer nrdfsx fie &dt I€72 Which of the following has no starting point?

a) 3u7(line) b) {9 (ray) i c) JuT ¥3(line segment)  d) feaat f8 AT &It (None of these)
J9 @ Ag 3 5T AT CRUSE] J 1 The biggest chord of acircleiscalled__

a) »i9u fem™ (Radius) b) AEJ (center) c) ™A (Diameter) d) feaat feg It &dt (None of these)
Ta9 faAe A9 niur &9 ge JT, TIT nHTEET J|

Curve with closed ends is called

a) 3u7(line) b) &t T (Open curve)  ¢) 9€ T(Closed curve) d) A€t =t &It (none of these)
e fﬁ@l‘f f&g fdamit Juet Fw AIEMT TS 2How many lines can pass through two points?

a) € (one) b)"ér (two) ¢) MEfAE3 (infinite) d)&??r 2t &dt (none)

Js feftmit 25 fom ggga @ feada &d° J&?Which of the following polygon has no diagonal?

a) f33A(triangle)  b) W< (cube) c) 93931 (quadrilateral) d) UAg(pentagon)

dg7d gHT T ERELE ?5 _ rHE T Polygon with four sidesis called .

a) f33H(triangle) b) 83987 (quadrilateral) c) UAgH (pentagon) d) fegst f&9 I a1 (none of these)
w3t €t et 2at meft foq we e i fsardt & de 3 gt 32

How many degrees the minute hand of a clock will cover in one hour?

a) 90’ b) 180° c) 270" d) 360"

= Hua s f8ardt 39 & U AaeT I°2

What is the maximum measure of an angle that can be measured using protractor ?

a) 60" b) 90" c) 180" d) 270"

g Juret miyA &9 {303 famy T 3 3 deemit 87

At which angle, the perpendicular lines intersect each other?

(a) %@3 J= 3 (Acute angle) (b) »ifix = 3 (Obtuse angle)

(c) AHAIE 3 (Right angle) (d) A& & 3 (Straight angle)

far f3dz T viegdt Jt Bet faos a8 ATt T 2

Which statement is true for interior angles of triangle.

(a) f3&° ﬁ?@ﬁ 3= T A (All angles may be acute) (c) f3& nifux d= T AT (All angles may be obtuse)
(b) 38 mHdzE 7 Aae (All angles may be right angle) (d) f‘8§f f&g" agt &dt (None of these)

(
(
(
(
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

SHT I3 T gt 3791 WH AGd Ad9 AT UeH 8% Ho F9d ¥3 J 3 w3t < ferr €9 UHS y9g &% Ha

9?7 What part of a revolution have you turned through if you stand facing west and turn clockwise to face east?
1 1 1 1

a) 2 b)g C)Z d)g

Jo fedtrt iR9° fagaT feniaa a3 3 We Afimr § TgAger J°

Which of the following expression represents a number 3 less thana ?

a) 3-a b) a-3 c)3+a d)3+a

e Ut 19 50 »ig Ia| Ad9 Ut & Aftmr b 99 3T »igh & & At u3T 397

If there are 50 mangoes in a box, what will be number of mangoes if there are b number of boxes.

a) 3+b b) 3b c) 50b d) 50+b

I & H3T & T93HG BHY, IT < T93Hs BT I 39t 1 5 A gmie g @ BHg =

H3e®% Jddm: The present age of Ravi's mother is three times the age of Ravi. The sum of their age

after 5 years will be:

a) 3x+5 b) 2x+5 c) x+5 d) 4x+5
foai At € TaE @9 5 736 3 feniax yus Jer It The sum of twice a number and 5 is written as:
a) x+7 b) 2x+5 c) 5x+12 d) 5x+2

£ AHEsH ©f f¥q 307 I &% TaATet aet J1 for v ufgHy | & 293" a9 f&u |

The side of a regular hexagon is denoted by /. Express the perimeter of the hexagon using /.

a)l b) 6/ c)l° d)y/*

Jo foftmit 29" faozr fAge Aftr &% gfenr fantaa 39

Which of the following is expression with numbers only?

a) y+3 b) (7 x 20) — 8z c)5(21-7)+7x2 d) 5m

e 93937 I=RT Bt HgH enft gt Sisr &t =93 J<t T

a)4a b) 3 c)2 d)5

& ITHNT & nizu3 o fearst ot gt J: What is the unit of ratio of any two quantities?

(a) =T fearet &dt* J& (No unit) (b) Ufa®t ITHT @t feam=T (unit of the first quantity)
(c) g?ﬁ JTHT = feameT (unit of the second quantity) (d) feaat f8° It 5t (None of these)

g gfew Horgs &g At €391 1 At @7 gim3 €397 < Aftmim &% nigu™s 5:2 J1 79 16 €39 I3
I, 3t AJt €39 &t fasst J:Ina quiz competition, the ratio of number of correct answers to the number of

incorrect answers is 5: 2. If 16 incorrect answers are given, then the number of correct answers is:

a) 80 b) 30 c) 20 d) 40

5 fefimrt f&5° faas ms wigu3 f&9 95 2 Which of the following are in proportion?

a) 10, 12,6, 5 b) 6, 10, 12,5 c)5,6,10,12 d)5,6,12,10

# fex a9 3 We K9 120 fooft <F gt 3 a9t I 3F a9 gurar 5 uie 9 3 St gt s9ea Ot
If distance travelled by a car in 3 hours is 120 kms, then distance travelled by the car in 5 hours is:

a) 200km b) 160km ¢) 100km d) 150km

5 fsftmit @9 fags™ »iaut3 18:12 ¥ 99799 J | The ratio equivalent to 18 : 12 is
a)2:3 b)3:2 c)5:1 d)1:5

T x:6 =55:11 3T x @ HB UITIIIIf x: 6=155: 11, then find the value of x.

a) 30 b) 18 c) 24 d) 66

fex I3 »ig vie 9 60 . 2 gt 3 a9t J1 30 faHt. &F g3t 3 395 BT [TaT AHT Saar?

A car travels 60 km in half an hour. How much time is required to cover 30 km with the same speed?

a) 20 fig(min)  b) 30f2(min) c) 50f2(min) d) 60fHz(min)
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Worksheet-19 Class VI  Unit test-4 ™I -8t
niftife - wigfanit T ysus (DATA HANDLING), yGfarer it (PRACTICAL GEOMETRY), AHTHSY

(SYMMETRY), &39fH3T (MENSURATION)
1. &3 5399 3 o 991 § urE 596 T3 foneEort & Aftmr fodat 97 .
From pictograph, find how many people like red colour? R - 10wt
ater
a) 45 b) 50 c) 55 d) 60 -
- 5
(YRS 2 3 4 ®t) fiq fils 9 2 ' @ sudn enrar o Han ek

Jo Tttt © 8739 fe8:
(Question 2 to 4) In a village six fruit merchants sold the following number of fruit baskets in a particular season.
Observe the pictograph and answer the following:

Name of fruit merchants Number of fruit baskets
Bhanu EEE E

Eashwar ygﬂ@‘j

Gopal YIIIIIY

Hari e e EEEEE
Kiran e e E F EEEE
Manoj P EEEE

Key: Each %#=100 baskets

U enraT fSatnit 5t it 2IIft It IrEtnei™? How many baskets were sold by Gopal?

a) 70 b) 600 ¢) 700 d) 675
fags TnraT Idt &% fSamit ufe Zxait T IEMT? How many less baskets sold by Kiran than Hari?
a) 800 b) 150 c) 950 d) 100

Bt utdntt T &F TR fAgsT & 600 AT 600 3° U STt IgMiT |

Name the merchants who have sold 600 or more number of baskets.

(a) 97g, JJt, IUTH (Bhanu, Hari, Gopal) (b) I, IJT, fI9a (Gopal, Hari, Kiran)
(c) m, I, 7% (Gopal, Hari, Bhanu) (d) T, faas, gTo_(Hari, Kiran, Bhanu)

ﬁa‘dﬁ%(Gloaangés??jedw@'e'M?25§WWWWW%?

If one G represents 10 bottles of coke then how is 25 bottles of coke represented?

> 0000 00000 °0d 00

(YAG- 6 M3 7 ®eY) -fer 23 e g oy, 7 €1 I$Hs Uz & gas K9 Ave9 3 1ol 37 Jef
ot & feadt §  =aA@e J135 fau ymrs © €39 e8! aniegth=5 i

Observe this bar graph which is showing the sale of shirts in a ready .

made‘sho;') from Monday to Saturday. Now answer the following ;o

questions : i :l,

fgaz fos 78 3 fmmer it TSt arghnrt? Tty

On which day were the maximum number of shirts sold? Monday

(a) -FHD-@-'H (Monday) (b) Ha®aTT (Tuesday) 03 10 1520 25 30 35 40 45 50 55 60 65

Number of shirts sold

(c) mAI=™T (Saturday) (d) 9=™9 (Thursday)
d9e9 § & YAz et STt aretrf, #a9 B8R 983 f9 3% 700 aftat STt ardhnrt 3?7 What

percent of shirts were sold on Thursday, if 700 shirts were sold in that week?
a) 10 b) 20 c) 30 d) 40
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

o9 foan nifes & et L »i3 u3de® AT 3 feret 937t of J=dt ?

If length of a rectangle is L and its area is A, then its breadth is:

a) b)L+A )5 d)AxL

fEx IS T nB-oS BA HIrST BT, A J6 ffimft &8 ot vz d&r grdter 97

Which of the following should be known to buy lace which is to be put around a handkerchief?
(a) fereT ufgHmy (its perimeter) (b) feAET ¥39EH (its area

(c) fereT ufaH™U W3 ¥39e% €< (both area and perimeter) (d) fEIaT f5° I &dT(none on these)
Hog fan nifezs & St L »3 937 B I 3t foerer u39es of d<dr ?

If length of a rectangle is L and its breadth is B, then its area will be:

a)2LxB b)L+B c)L-B d)LxB

Hdd 94T T U39S 225 AN J 3T AT gAT off ddi?

If area of a square is 225 cm’ then what will be the length of its side?

a) 15 AH (cm) b) 60 AH(cm) c) 225 HH(cm) d) 30 AHH(cm)

50 Hieg Bgret T8 fEa »ifezarg 9791 T ¥39e® 300 IJdT Hieg J I7dr &F 937t & J°?

The length of a rectangular park whose area is 300 square metres is 50 metres. What is its breadth?

a) 4m b) 6m c) 8m d) 1500m

FAH & 39 @ UfgHy off J=dr fAR & I9x 3a7 ©f Baret 8 Hed J°?

What will be the perimeter of regular Hexagon Whose each side of length 8 metre ?

a) 14 Ht(m) b) 48 Ht(m) c) 10 HH(m) d) 50 Ht (m)

fex 379 € 23 ©F BIE 12 AH JI18F § H3 I 991 Iefent famim J 29ar & 539es o J<dr?

The length of a wire is 12 cm. A square is formed by folding it. What will be the area of the square?

a) 36cm’ b) 144cm’ c) 9cm’ d) 12cm’

fex f3gm Tit € 3A=t 12 AH »i3 14 AH o | fer f33a v uformy 36 AW T 1 StAST 37 < saret ot I
Two sides of a triangle are 12 cm and 14 cm. The perimeter of the triangle is 36 cm. What is length of the
third side?

a) 18cm b) 26cm c) 10cm d) 20cm

e A UasH = ufgHy 100 em 1 feRet 99 3AT ©f saret of d=dit?

The perimeter of a regular pentagon is 100 cm. What will be the length of its each side?

a)4 b) 25 c) 20 d) 50

e »ifesag a3 ¥ 233 €7 u39e® 45 <91 AN N3 foret Sgret 5 AN J Inrfesarg 313 < 937t J:
The area of a rectangular piece of cardboard is 45 cm sq and its length is 5 cm. The width of the
cardboard is

a) 9cm b) 4cm c) 7cm d) 8cm

& Tgarg M3 WfE3dg UBe & UfgHY AN J I9ad IJdT ©F 3AT 40 HT »i3 wifes ©F saret 50 HY
J 3 nrfes @ ¥39€% J: A square and a rectangular plot of a land have same perimeter. If the square
is of side 40 m and rectangle is of length 50 m. Then area of rectangle is

a) 200AH EJdT(cm’)  b) 150AH =JdT (cm’)  ¢) 1500AH JdT (cm’) d) 1600 AH FJdT(cm’)

& AHesHT f3gq <9 FHTHST Suret JEhrt I |

Symmetry lines in Isosceles triangle are

a) '€ (one) b) ¥ (two) c) f3a(three) d) A=t &It (none)

e Joag it AHfHST Juret &t farsst J<t It

The number of symmetry lines in a circle is

a)o b) 2 c)4 d) iEfaIfES (Infinte)

Jot {50 a2 wivdt &9 faoz »iug & It < AHHST Sur &dt 97

Which of the following letters does not have any line of symmetry?

a)M b) S c) K dH
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Worksheet-20 Class VI Miscellaneous Exercise ™3 - <t

1.

10.

11.

12.

13.

14.

15.

16.

o fefimrt oo’ faos via & aes ffa AHfHEt Jur 3=t 39
Which of the following digits has only one line of symmetry ?
a)l b) 3 c)5 d)7
5 fefimrt feg” faagiort nrfgsnt & € arflst Juet a8?
Which of the following figures has two lines of symmetry ?

a) —> o) [ ] 0> A<=
5 fefimrt oo faas nhugt ©F des yz<dt AdfHSt <t Jur <t 97

Which of the following alphabet has vertical line of symmetry ?

a)M b) B c)C d)D

23t nrfast Short fdahtt mifHst Suet 95? 3 o
How many lines of symmetry are there in given figure ?

a) 0 b) 1 0)2 d) 4 T

fea fggm fes ... . 3 20 mit Juret adt § AeEm?

A triangle cannot have more than ........ lines of symmetry ?

a)l b) 3 c)2 d)o

FdI9 TIIRT T M 3, 0, 9, 1 § T93 & 99 vixt & ISt 3 ISt Aftor ¢

The greatest four digit number using digits 3, 0, 9, 1 without repetition is:

a) 9301 b) 9311 ¢) 9103 d) 9310

ffx o% &9 ught 50 IIAM 35" 7 32 3Tt & w3 18 udh Iz 3T Js fefanr &5 fagz AT 37
Which of following is true when in a hall 32 chairs are filled from total of 50 and 18 are vacant.

a) 50+32 =18 b) 50 +32 = 18 ¢)50-32 =18 d)50 + 18 = 32

feq fes faAe g9vgg Jer J| One day is equal to...............

a) 12x12 uiZ(hours)  b) 60x60 AfIS(seconds) c) 24x 60 fife (min) d) 360 A™®(years)
Jo f&fumrt f&9° faazT Afg-nis Aftmiret @7 7537 I?Which of the following is pair of co-primes?
a)6and 8 b) 18 and 35 c) 7 and 35 d) 30 and 415

3 13 9 5% IHGST UST A3 AT AT I Divisibility by 3and 9 can be checked by:
a) ot € i3 5% (sum of digits) b) nradt Wi ‘S"(Iast digit)

c) MEIt € Widh 3 (last two digits)  d) »udt 35 nidt 3 (last three digits)

far Fftmr Jur 3 fAgg 3 5 fearett Aa UH faast Augs Aftr It 37

On any number line which integer is 5 units to the righjc of zero (0) ?

a)+5 b) -5 c)+4 d) -4

J% &J: (Solve) : 1+ 2 +3 + (-1) + (-2) +(-3)

a)-6 b) -12 c)o d) 12

-1 »3 1 feea9 e Ayds Aitmet I35 7 Number of integers lying between -1 and 1.
a)l b) 2 c)3 d)o

-1 @ fu=33 Hyds Aftmret fJasT I7 The predecessor of the integer -1 is.

a)o b) 2 c)-2 d)1

o feftmrt 257 7/8 3 3/8 = 39 faazT I2
Which of the following is the difference of 7/8 and 3/8?

a)+5 b) -5 c) +4 d) -4
16 AN 7 findt 25 Hieg <9 gTs%s &% yus Jer J: Conversion of 16 cm 7mm in meters is:
a) 1.67 b) 0.167 c)16.7 d) feat f&5° =t &t (none of these)
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

w3t & uifent =@ 7Et 12 3 6 3T IBet JIAHAE ©F farest usT J37

The hour hand of a clock moves from 12 to 6. Find the number of right angles?

a)l b) 2 c)3 d)4

HTfIR Ehit Sttt &% f3g 58 ©F fan a9 1Js &3t fam Afast g 3t f3ga &t 9= Aaw?
Try to make a triangle with the help of matchsticks. In which of the following situations, will you be
Unable to make a triangle?

(a) 3 St&ET 5% (With 3 matchsticks) (c) 5 FBt &% (With 5 matchsticks)

(b) 4 Bt 7% (With 4 matchsticks) (d) 6 BT 5% (With 6 matchsticks)
ff g 93937 ge8T BT W e &3 Ae-Hgandt df @93 JJdl|

How many (minimum) set-squares are needed to make a quadrilateral?

a)<e (Two) b) f35 (Three) ¢) 9'd (Four) d) U7 (Five)

A3 3 ue gt 1% ¥g9H & off foadr AT I?

A polygon with the least number of sides is called?

a) UAgd(pentagon)  b) & 37 (hexagon) c) 9393 (quadrilateral) d) f33d(triangle)

J& fofmrt 28 faazm nirarg Be-urrdt &dt* 32

Which of the following is not a 3-Dimensional shape?

a) 3B (Cone)  b) HF (Cylinder) c¢)WE= (Cuboid) d) EJ (Circle)

T49I n=33 37 4n T HS UST I |

If n =3 then find the value of 4n ?

a) 14 b) 15 c)12 d)6

g wifes & BaTEt | »i3 9FE b I° 3T fER T U39ES of J<dr|

If length of rectangle is / and breadth is b. What will be its area?

a)/+b b) 2/ +2b c)2/+b d) b

Ha9 1% ,T9 &% 3 G &8¢’ J| 99 9 A% & J,37 1% & 81T UsT I3 |

If length of rectangle is / and breadth is b. What will be its area?

a)3 A7® b) 6 A& c)4 S d)5 A®

(YAs 25 ™3 26 &) fugs Je3 79 30 fefonrgdint & M3 &9 99 Tw9 Ifaz =@ fefonraeamt &
Aftmr o 23 fo39 vy &9 fersaugea feurst ast 9:

The following pictograph shows the numl:;er of absentees in a class of 30 students during the previous week:

Days Number of absentees 7+ - 1 Absentee

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

%ﬂ%ﬁﬂg—%w&ﬁwmaﬂw%m%?

On which day maximum number of students were absent?

a) AHT™9 (Monday) b) Ha®<Tg (Tuesday) c) HaIETT (Saturday) d) 1S9 (Thursday)
forrr fem gt udt A

On which day the attendance was full?

a) FHE™9 (Monday) b) HaI®<Tg (Tuesday) c) HaIETT (Saturday) d) FTI=T9 (Thursday)

a9 nrfes & Baret L »i3 839e® AJ 3T 937t of ddtt ?
If length of a rectangle is L and its area is A, then its breadth is:

a) b)L+A o d)AxL

WS-20(B)
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LO Based Worksheet :21 ( Class VI)

—_

Y& At & &1 ... JESHS 3I3IAHR J |
For Whole Numbers ............. is Multiplicative Identity.
a) 0 b) 1 ) 2 d) -1

. 979 wixt °F IS 3 ST Bt T nigTH JEsusiadE J<d:
What is the prime factorisation of greatest 4-digit number?
a) 3x3x11x101  b) 9x11x101 c¢) 3x33x101 d) 3x3x11x11

. f&3 9339 <9 A0C Jo fEhtmit <9° fang Tam@er J7
In the given figure, which of following is represented by AOC? D
a) fo™ (Diameter) b) »iIufen™d (Radius)
¢) TxIYF (Segment) d) »iIufenmdt €3 (Sector)

. 79 a w3 b T Ygfsa Aftmet 3z 3t Jo fSftmrt 87 faos ams At sdt 97
If a and b are two natural numbers, then which of the following is not true?
a) at+b=b+a b) ab=ba ¢) a-b=b-a d) fegst f&9° €t &dt (none of these)

AYSs Aftmret -5, -3, 0 ,---- & &3t &9 nEdhntt 35 Aftmret €7
What are the next three numbers in the following series -5,-3,0,
a) 4,-2,-1 b) -4,-2,0 c¢) -6,-2,1 d) -4,-2,1

= —= % I 396 T AT I 37

Which of the following is correct method to solve % - % ?
1-1 6-5 5-6

1
D5 559 5 9ok
.2 319 3 wigH Aftmiet & 2 319 I % Aftmret 1% f8a ot J=ait?
What will be the fraction of prime numbers from 2 to 19 with total number from 2 to 19 ?
a) 9/18 b) 8/18 c) 8/19 d 9/19

. f939 nigA9 Ke™ ¥ & dear?
What will be the value of K in given figure?

a) 69 b) 78 ¢) 74 d) fegs’ & St &It (none of these)

0.625 T g5 U T :
What is fraction of 0.625?
a) 625/100 b) 625/1000 ¢) 625/10,000 d) 625/1,00,000

10. M8 I&% 3 A §° s &% THte: Let's see the solved sum carefully:
YH&(Question): -9+ (+4)+(-6)+(+3)
Step1: -9+4+(-6)+3
Step2: -94+4 +6+3
Step 3: -9+413
Step4d: +4




R foar uar f&9 @3t I? Which step is incorrect?
a) Step 1 b) Step 2
c) Step3 d) Step 3

11. I f&fmit f&9° faas virarg 38 urrdt &dt 37
Which of the following is not 3-dimensional?
a) <% Cylinder b)ﬁg Cone ¢) 9ad Circle d) d1&™ Sphere

12. 799 1 ©9A& UfAS &t H3 60 <, 3T 4 UTHS < W3 J;
If cost of 1 dozen pencils is 60, then cost of 4 such pencils is:
a) 40 b) 30 c) 20 d) 10

13. 90 AH T 1.5 HY. &% nigus J:-
What is the Ratio of 90 cm to 1.5 m?
a) 53 b) 3:5 c) 19 d) 9:1

14. f&x fauHgt g7 Enrt (&St AHTHST Juret st Jeit 757?

How may symmetry lines are there in a scalene triangle?

a) 0 b) 1 c) 2 d 3
15. 3% f&Shrt et nirfagErt 487 faast wifast <t ot &
HHTHST Jur &dt 3 ® \ @ |
Which of the adjoining figures does not have a line of symmetry? P
(i) @) o

a) (i) b) (i) c) (iii) d) (iv)

16. fea uH § 30 T9 Hfewr Afer I i3 Jo fou ufoey 8T Is-
A die is thrown 30 times and following are the outcomes: @
2,1,2,4,6,1,2,3,6,5,4,4,3,1,1,3,1,1,5,6,6,2,2,3,4,2,5,5,6,4
Bug fe3 nigfani &g vig 2 € gJg9sT fdat I°2
What is frequency of digit 2 in above data?

a) 4 b) 5 c) 6 d 7

17. 99 4=2x2, 15=3%5 J<, 37 4 »3 15 & H.AH.E. J<dr";
If 4=2x%2,15=3%5, then H.C.F of 4 and 15 will be:
a) 0 b) 1 c) 2 d 3
18. f&x urdr € 2oz ©F Bt 30 AH J1I9 IAT ©F HIel fdar J=dit 79 feH Udl &% AH 237
gerfent  AfEr 37
There is a 30 cm piece of string. What will be the length of each side of a regular hexagon made by this
string?
a) 4cm b) 6¢cm ¢) 8cm d) Scm

19. f&x Tgdntes 9 A& =991 AX I I&?
How many cm? are there in 1m?*?

a) 100 b) 1000 c) 10000 d) 100000



LO Based Worksheet :22 (Class VI)
1. f&x I8 I%9 faw niarg T Jer I°2
What is shape of a road-roller?
a) cube b) cuboid c) cylinder d) sphere

2. f&3T Ueds T4 See the given pattern:
1+3=22
143+5=732
143+5+7=4>

.....................

a) 64 by 81 ¢ 25 d) 100

3. fozr 939 yIs Aftmret & g © faA gF § =9 foor J7 [
Which property of multiplication of whole numbers is represented 1 =
by the given figure?
a) HHYZT JT Closure Property b) FH TTEIT Il Commutative Property
c) dIE3HA IIAHA multiplicative identity d) AfdY93T € Associative Property

4. I& fefantt 25" fxast Aftmr 9 & gmwTiar I7
Which of the following number is divisible by 9?7
a) 15287 b) 15267 c¢) 15286 d) 154638

5. I fgftmrt 29" faast e negr Aftmr 37
Which of the following number is a perfect number?
a) 8 b) 6 c) 28 d 9

6. S € Ay 3 <5 i § o ferar T 37
The largest chord of a Circle is its:
a) MJU IIJ Semi Circle b) »3Iu @™ Radius
c) fer Diameter d) 9U Arc

7. 35 Bt mitaest 9" fam mitage & 9% feq Ayds Afinm st T 2
Which of the following equations does not have a solution as an integer?
a) x+1=1 b) x-1=3 ¢) 2x+1=6 d) 1-x=5

8. TIIT Tt AT W3 wWE T fIaTfant T niguts T J=arm?

What is ratio of Sides of a square to the edges of a Cube?
a) 1:22 b)) 32 ¢ 41 d) 13

9. w3t gt Ufent T gEt 12 ufentt 9 360° T d g8t T 3t 8 30 fiflet Ko fI8 faardt = 3=
gITEdn ?
Hour hand of a clock subtends an angle of 360° in 12 hours, then what will be the measure of angle
subtended by it in 30 minutes?
a) 60° Db) 15° c) 360° d) 420°



10. It feure are 39t 5" faosT f539 fan Jus © &9 AHEs ™A § T9r faar J7
Which of the following figure represents perpendicular bisector of a line segment?

h
!

B A—tt - ] A tH— . B
l
Figure 1 Figure 2 Figure 3
fg39-1 fg39-2 fg39-3
a) 9331 (Figure 1) by fg392 (Figure2)
c) f939 3 ( Figure 3) d) f933 1 »3 2 (Figure 1 and 2)

11. g€ EXPERT &9 fao3 »iug St St w3 uset €< Avfist Juet 9s?
In word EXPERT, which letter has its both horizontal and vertical symmetry lines?

a) X b) E ¢ R d T

Terrace

12. HoT T w9 29, 23 €3 AT &t ni3 I deH &9 A< ;
BET Uit gahtt I8t I8 | Aa9 23 83 AE BT Uit <F

fazrsHa AyIs Hftmr HatE w2 mits § 0 HatR, 3t fag Hos mis 3
5 UEht Jot 9% J feg €8 12 Ut QuT & »ie 3t Haz faast Ut .

(?
! s

1 2 3 4 5 6 7 B
—TTT T T

In Mohan's House there are stairs for going up to the terrace and for
going down to the godown. If the number of stairs going up to the terrace
as positive integer, the number of stairs going down to the godown as
negative integers and the number representing ground level as zero, If

(Godown
Mohan goes down 5 steps from the ground floor and then move up 12 JeH
steps from there, then on which stair Mohan will reach?

T T T
—8 —7 —6 —5 —4 —3 -2 —1

a) -7 b) +7 c) -5 d) +12

13. Jo fefanit f&9° faoz ams Adt 37
Which of the following is true?

a) 44>1 b) 06=1 c) 1>78 d) 36<12
14. A9 im%:—s 3IBOBHS fSaT I& 3T x T HS off J<ar?

If i and :—Sare equivalent fractions then what is the value of x ?

a) 7 b) 8 c) 9 d 10

15. I f@ftmit fE9° fagsT ¥ 13.04 Hies g fast emise 3 T9rger 7
Which of the following value represent 13.04 metre without decimals?
a) 1304 o, mm b) 134 fH.H. mm

¢) 13040 fH.HT. mm d) 13004 fH.Ht. mm
16. 3> T TAHER QU I3

What will be the decimal representation of 3% ?
a) 3.06 b) 3.60 c) 036 d) 36.0



LO Based Worksheet :23 (Class VI)
1. A8 3" ¢! foesHa Hyds Aftnr 3
Which is the smallest negative integer?
a) -1 b) 0 c) 1 d) U3T &t cannot find

2. f&3 fg39 Ehntt fdsthort AHHSt Juret g&?
How many lines of symmetry are there for the given figure?
a) 4 b) 3 c) 2 d) 1

3. I fSfimit 85" faoz™ U39 da9 ge8z &t =93 AT I67?
Which of the following instruments are required to draw a circle?
a) @<, UIad Scale, Compass b) UIg, & HUK Compass, Protractor
¢) & Huw, fs=fes9  Protractor, Divider d) @27, & HUA Scale, Protractor

4. €& nfesTarg 313 T U39eH 36 <991 AH J w3 feret et 9 AW J1 313 & 9378 U3t a9 |
Area of a rectangular cardboard is 36 cm®and its length is 9 cm. What will be the breadth of Cardboard?
a) 6 HH(cm) b) 8 HH(cm) ¢) 4 HAH(cm) d) 3 AH(cm)

5. f&3 fgsg = uferu J: r
What will be the perimeter of given figure? ' |10
a) 40 b) 44 c) 22 d) 66 B

6. 73 T IHG AT Wik ot J=dr? T
Express 73 in Roman number system:
a) LXXIII b) LXX ¢) LXIV  d) LXV

7. 6 T A33HA v J=ar:
Additive inverse of 6 will be:
a) -5 b) -6 C) -7 d) -8
8. —+lu s I
S TP
Value of Z+Z is:
1 1 1
a) 0 b) 3 C) Z d) 24
9. ¥dI9 TII8T IT nidt 2,0,7,4 T T93° IJe 9T I9 widl @ AF I 2 At I

The smallest four digit number using digits 2, 0, 7, 4 without repetition is:
a) 0274 b) 2074 c) 2704  d) 2740

10. 9 ysfsx At frrmer St RS9 ot Jer
The natural number which has no predecessor is:
a) 1 b) 0 c)3 d) 2
11. Iat et Aftmret f&9° faost Az 3 &t 3 Aftnr 37
Which of the following is the smallest composite number?
a) 1 b) 2 c) 3 d) 4
12. f€x nig™H Aftm © &8 JEaus J¢ 367
How many factors does a prime number have?
a) 1 b) 2 c) 3 d) fegst f&8° I &It ( None of these)




13. Ig & TISHS BHI y A® J, 5 A ufgest SreT §HI Uz &d |
Present age of Raju is y years. Find his age five years ago.
a) y+5 b) y-5 c) yx5 d y=5

14. 939 *9 3 d& = »idfsa fie fags o
What is the initial point of given angle in the figure?
a) A b) B c) T d N L T

15. a3 939 Aftmret T fAges © fag3 foun § Tam@er J7

Which rule of addition of two numbers is shown by given figure? s + 3 =

a) H TcEITIE Commutativity Property b) 3T I Distributive Property T s
¢) AfJ9T93T IE Associative Property  d) feaat f&5° I€T &It ( none of these)

16. fE3 fo39 B[] T s 3
For the given figure choose the correct value to be filled in [ ] : 4
a) 30 b) 35 ¢ 40 d) 45 75>

17. 79 &g Aelas & 2rfeg @9 36 397 I6 37 © %Ir3'9 397 @0 s 36t = a@ d<ar?
If there are 36 spokes in a wheel of a bicycle, then what is the angle between two adjacent spokes?
a) 10° b) 12° c) 15° d) 20°

18. fg39 &g Jar i3 gar o Ber J:

Shaded portion in given figure shows: 4

a) MIufen™t ¥ (Sector) b) T ¥F (Segment) c¢) IU (Arc) d) fog’Ff (Triangle)
19. Using number line, find the number which is 4 less than 3.

At U T yUdT F9d 89 Aftmr Uzt &9 7 3 3 4 e 92|

=

T T T T F LI L
3

T |
5 4 -3 =2 -1 0 1 2 4 5

a) 7 by -7 c) 1 d) -1

20. TIdT It gATET I fIESt i3 wE T e ©f faEst T wigus fJer J=am?
Find the ratio of number of sides of a square to the number of faces of a cube.
) 1:2 w) 32 ¥ 41 ") 2:3

21. I fofimit f35° I%3 9%
Choose the false statement?
(a) 1 AZ 3° &2t Yfg3d Ritm™ I1 one is the smallest Natural number.
(b) ATttt UTfg3a Aftm=t, Y& Aftmet Jeft 951 All natural numbers are whole numbers.
(c) 0 Bftmim 1 = fugsg J1 0 is a predecessor of 1.
(d) 0 Aftmrr T fugsg yda Aftm I Predecessor of 0 is a whole number.




Worksheet-24 (Class VI)
H&HE WarsT '3 a3 YBES (Mental Ability)

yas 1 3 4 &9 nifamrs ue u3T a9

Find the missing term in question number 1 to 4:

1) 12, 24,48, |

a) 48 b) 96 c) 16 d) 32
2) 40,20, 1,5

a) 10 b) 20 c) 15 d) 25
3)1, 2, 4, 8 [ |

a) 10 b) 12 c) 16 d) 20
4) 2:8::3: |:|

a) 6 b) 9 c) 12 d) 15

5. 36 oot f&9° faoz feamy 12 <F gt &t ga=t I°2

Which of the following is the correct option to be filled at question mark?

el

a) b) c) / A
6.)J6 &t 9" Suar &3
Find odd one out:
40°, 30°, 120°, 70°
a) 40° b) 30° c) 120° d) 70°
7) a8 39

Fill in the blank: abc, efg, ijk, ......

a) mno b) Imn c) mnl d) omn

8) Jo fadn 35" fagz™ feamu 7' & &f &=t ga=t I7

Which option will replace '?*

I L U ?

3 | b} O c) A d}

9.) Jo Tt f&9° faoz feamyu 17 &t & Bt ga=t I°?

Which option will replace '?"
Us : fAerdt o fagmg @ 2

Pen: Ink:: Book:?

a) Us(Pen) b) fa3m=(Book) c¢) UaT (Page)

d) fegst f&9° A& adt(none of these)

d) fAmdt(ink)



10) 99T ®3: Find odd one out:
Jdaq, ﬁ@ﬁ, ?J'd"'b?_a’, g3dgd (Circle, Triangle, Line segment, Quadrilateral)
a) TaJ(Circle) b) 337 (Triangle) c) Ju™3(line segment) d) T3I3A (Quadrilateral)

11.) I3 fedhntt f&9° faosr feamy ' 7' &t 5 B2t ga=t I7?

Which option will replace '?

SN
a) Q b) B c) d)

12. viftmus : fefenraat :: 39T : ?
Teacher : Student :: Doctor : ?

a) HIH (Patient) b) Wit (Teacher)

c¢) 3&cd(Doctor) d)feaat f&g qt adt (none of these)
13. 94T IH & 3= HIZT I, HIZT € 1 ¥ USt €7 &TH 9 J 3T IH ¥ fUsT ' & ER
If Ram's sister is Sita, Sita's mother's husband name is Raja, then tell Ram's father name.
a) dJ™(Ram) b) H3T(Sita) ¢) IH(Raja) d) fegst f&g q=t &dt(none of these)
14. A,BET IIT JIB, C & 2<t 3& JI C, D U3at I 3T AT D& of fa|sT I?
B's brother is A. B is younger sister of C. C is wife of D, then what is the relation of A to D?
a) A DT H® J Aisbrotherin law of D b) A, DET 37 J Ais brother of D
c) A,DETG"GT% Ais uncle of D d) A,DE’T%‘E% Ais sister of D
15. 4@ 37 33:(Fil in the blank): A, C,E, G,
a) H b) | c J d K
16. 799 2+3=6, 3+4=12 < ,3t 5+3 =

If24+3=6 3+4=12then 5+3 =?

a) 8 b) 15 c) 53 d 2
17. 12,16,20, | |,[ |
a) 22,23 b) 23,24 c) 24,28 d 22,26

20. 9,15,17,21 &5 JyaT &3 |
Find odd out from 9, 15, 17, 21.
a) 9 b) 15 c) 17 d) 21
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